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BACHELOR’S DEGREE PROGRAMME  

(BDP) 

Term-End Examination 

December, 2021 

ELECTIVE COURSE : ECONOMICS 

EEC-011 : FUNDAMENTALS OF ECONOMICS  

 

Time : 3 hours                            Maximum Marks : 100 

Note :   Answer questions from all sections as per 

instructions.   

 

SECTION A 

Answer any two questions from this section in about 

500 words each : 220=40 

1. What do you understand by the term ‘consumer’s 

equilibrium’ ? Explain how a consumer can attain 

equilibrium under ordinal utility approach. 

2. Distinguish between price elasticity of demand 

and cross elasticity of demand. Explain the 

various methods to measure the elasticity of 

demand. 
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3. What is national income ? Explain the various 

methods used to measure national income in 

India. 

4. Explain the Keynesian demand for money. How 

is it different from the Classical version of 

demand for money ? 
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SECTION B 

Answer any four questions from this section in about 

250 words each.  412=48 

5. Discuss the three stages of production. Why does 

the law of diminishing returns operate ? 

6. Given the Total cost function : 

TC = 120 + 0·5q + 0·2q2 

Find : 

(a) Fixed Cost 

(b) Variable Cost 

7. State the conditions that give rise to monopoly. 

How does a monopoly firm determine its level of 

output and price in the short-run period ? 

8. What is the difference between real rate and 

nominal rate of interest ? Explain the loanable 

fund theory of determination of rate of interest. 

9. Distinguish between partial equilibrium and 

general equilibrium. If you want to study the 

working of labour market in your city, which 

methodology would you like to use ?  

10. What is the difference between the following : 

(a) Microeconomics and Macroeconomics 

(a) Positive economics and Normative economics 

11. How are wages determined in a perfectly 

competitive market ? 
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SECTION C 

12. Distinguish between any two of the  

following : 26=12 

(a) Economic theory and Economic law 

(b) Money market and Capital market 

(c) Unemployment and Under-employment  

(d) Internal economies and External economies 
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 B©.B©.gr.-011  

ñZmVH$ Cnm{Y H$m`©H«$_  
(~r.S>r.nr.) 
gÌm§V narjm 

{Xgå~a,  2021 

 

EopÀN>H$ nmR>çH«$_ : AW©emñÌ 

B©.B©.gr.-011 : AW©emñÌ Ho$ _yb {gÕm§V  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {ZX}emZwgma g^r ^mJm| go àíZm| Ho$ CÎma Xr{OE & 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) 

_| Xr{OE : 220=40 

1. ‘Cn^moº$m Ho$ g§VwbZ’ go Amn Š`m g_PVo h¢ ? H«$_gyMH$ 

Cn`mo{JVm CnmJ_ _| Cn^moº$m H$s g§VwbZ àm{ßV H$s 

ì`m»`m H$s{OE & 

2. _m±J H$s H$s_V bmoM Am¡a _m±J H$s {V`©H²$ bmoM _| A§Va 

ñnîQ> H$s{OE & _m±J H$s bmoM Ho$ AmH$bZ H$s {d{^Þ 

{d{Y`m± g_PmBE & 
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3. amîQ´>r` Am` Š`m hmoVr h¡ ? ^maV _| amîQ´>r` Am` Ho$ _mnZ 

_| à`wº$ {d{^Þ {d{Y`m| H$s ì`m»`m H$s{OE & 

4. Ho$ÝµOr` _wÐm H$s _m±J H$mo g_PmBE & `h Šbm{gH$s _wÐm 

H$s _m±J go {H$g àH$ma {^Þ h¡ ? 
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^mJ I 

Bg ^mJ go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J 250 eãXm| 
(àË`oH$) _| Xr{OE & 412=48 

5. CËnmXZ Ho$ VrZ gmonmZm| na MMm© H$s{OE & õmg_mZ 
à{V\$bm| H$m {Z`_ Š`m| H$m`© H$aZo bJVm h¡ ?  

6. Hw$b bmJV \$bZ Bg àH$ma {X`m J`m h¡ : 

TC = 120 + 0·5q + 0·2q2 

kmV H$s{OE : 
(H$) AMb (pñWa) bmJV 
(I) n[adVu bmJV 

7. EH$m{YH$ma H$mo OÝ_ XoZo dmbr eVªo ~VmBE & Aën Ad{Y 
_| EH$m{YH$mar \$_© AnZo CËnmXZ Ho$ ñVa Am¡a CgH$s 
H$s_V H$m {ZYm©aU H¡$go H$aVr h¡ ? 

8. ã`mO H$s dmñV{dH$ Xa Am¡a _m¡{ÐH$ Xa _| Š`m A§Va hmoVm 
h¡ ? ã`mO Xa Ho$ {ZYm©aU Ho$ G$U-`mo½` H$mof {gÕm§V H$s 
ì`m»`m H$s{OE & 

9. Am§{eH$ g§VwbZ Am¡a ì`mnH$ g§VwbZ _| A§Va ñnï>  
H$s{OE & AnZo ZJa Ho$ l_ ~mµOma Ho$ H$m_ H$aZo Ho$ 
AÜ``Z Ho$ {bE Amn {H$g {d{Y H$m à`moJ H$a|Jo ? 

10. {ZåZ{b{IV _| Š`m A§Va hmoVm h¡ ? 

(H$) ì`pîQ> AW©emñÌ Ed§ g_pîQ> AW©emñÌ 
(I) dñVwdmXr AW©emñÌ Ed§ JwUdmXr AW©emñÌ 

11. nyU© à{V`moJr ~mµOma _| _µOXÿar H¡$go {ZYm©[aV hmoVr h¡ ? 
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^mJ J 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  _| AÝVa ñnîQ> H$s{OE : 26=12 

(H$) Am{W©H$ {gÕm§V Am¡a Am{W©H$ {Z`_ 

(I) _wÐm ~mµOma Am¡a ny±Or ~mµOma 

(J) ~oamoµOJmar Am¡a AënamoµOJmar 

(K) AmÝV[aH$ {_Vì`{`VmE± VWm ~mø {_Vì`{`VmE± 


